
? 









Statement –

I. All fruits are lions
II. All lions are foxes
III. Some foxes are beggars

Conclusion –

I. All fruits are foxes.
II. Some fruits are beggars.

कथन –
I. सभी फल शेर हैं

II. सभी शेर लोमडी हैं

III. कुछ लोमडडय ाँ डभख री हैं

डनष्कर्ष –
I. सभी फल लोमडी हैं।

II. कुछ फल डभख री हैं।



Statement –

I. All fruits are lions
II. All lions are foxes
III. Some foxes are beggars

Conclusion –

I. All fruits are foxes.
II. Some fruits are beggars.



Find the missing :-

0 , 1 ,1 , 3 ,2 , ? , 3 , 13 , 4 , 21

(A) 7
(B) 2
(C) 3
(D) 0 



Arun is celebrating his birthday today . On his next birthday , he will be 
twice his age that was 12 years ago . How old is Arun today ?
अरुण आज अपन जन्मडिन मन रहे हैं। अपने अगले जन्मडिन पर, वह 12 
स ल पहले अपनी उम्र से िोगुनी होगी। अरुण आज डकतने स ल क है?

(A) 24 years
(B) 25 years
(C) 26 years
(D) 27 years



Find the missing :-

Odometer : Speed :: Ammeter : ?
ओडोमीटर: गडत :: एम्मीटर:?

(A) Mass / द्रव्यम न

(B) Earthquake / भूकंप

(C) Current / करंट

(D) Air / वतषम न व यु



Find the missing :-

Hardware , Software , Computer / ह डषवेयर, सॉफ्टवेयर, 
कंपू्यटर



Find the missing :-

(A) 828
(B) 1293
(C) 1945
(D) 783



Find  the number of square (?)

(A) 5

(B) 2

(C) 3
(D) 1



Find the odd one :-

1. Cumin / जीर 

2. Groundnut /मंूगफली

3. Cinnamon /ि लचीनी

4. Pepper /डमचष

5. Clove /ल गं



If ‘a' means '÷', 'b' means '+', 'c' means '–' and 'd' means '×' 
then 

36 b 13 c 7 d 8 a 2 b 14= ?

(1) 36

(2) 35

(3) 46

(4) 37



In Which year 1272 calender will be repated ?

(A) 1300

(B) 2016

(C) 1312

(D) 1328  



Find number of triangle in the given figure ?
िी गई आकृडत में डिभुज की संख्य ज्ञ त कीडजए?

(A) 20

(B) 18

(C) 17         

(D) 19 



Find the option which should replace (?)

SIT : 8 
TOY : 10 
VIP : ?

A. 11
B. 15
C. 16
D. 7



Find number of SQUARE in the given figure ?
िी गई आकृडत में वगष की संख्य ज्ञ त कीडजए?

(A) 24  

(B) 27

(C) 23

(D) NOT



Find the option which should replace (?)

CDEF : EGJM 

PQRS :: ?

(A) RTUZ

(B) SUMK

(C) ADIL

(D) ALNP



Find the odd one (?)

(A) Sharpener / श पषनर

(B) Calculator / कैलकुलेटर

(C) Eraser / इरेज़र

(D) Pencil / पेंडसल



Find the option which should replace (?)

FASHION : FOIHSAN 

PROBLEM :: ?

(A) PELBORM

(B) MELBORP

(C) LEPBMRO

(D) PROBLEM


